Notes Noires (Fapy Lafertin)

from CD 'Hungaria'

Standard tuning

J =234
<span> Am </span> <span> B7 </span> <span> E7 </span> <span> E7 </span:
S Y b I ¥ b > b
é m & L] 0 L] ; & L] R I LR E—
- 7 g 7 I U.ﬁ 7 #’ 7 ’ 7 } #’ 7 ’ 7
o P o ¥ i o
mf mp mf mp mf mp mf mp
T 1 1 0 0 3 3 3 3
2 2 2 2 1 1 1 1
A— 5 2 1 1 2 2 2 2
B—O 2 2
0
b\
<span> Am </span> <span> B7 </span> <span> E7 </span> <span> E7 </span>
- Yy y oy > b b
6 s y ——ao e &;7-;7 .4;%;7
- F-d I #
S o o ¥° . ¥ =
mf mp mf mp mf mp mf mp
T 1 1 0 0 3 3 3 3
2 2 2 2 1 1 1 1
tA——— 2 2 1 1 2 2 2 2
HB—0 2 5 2
.
<span> Amb5 </spasspan> E7 </span><span> Am </spanxspan> Am7 </sparspan> A7 </spar
U T b Y b
LD L] OO LD L] LD
i 7 ﬁ’ 7 ’ 7 ; 7 i ; i ;
. L w v w w - -
= - - -
mf  mp mf  mp mf  mp mf  p mf  mp
3 3 3 3
T 1 1 3 3 1 1 1 ] 2 2
2 2 1 1 2 2 2 2 2 2
A1 1 2 2 2 2 2 2 2 2
B—O 0 0 0 0
\
<span> A7 </span> <span> Dm </span> <span> Dm/F </spanxspan> Dm </span:
/,\ 14 ) ﬁ $
<
Y vi o7 o yi ﬁ 7 g ¥a j ﬁ 7 g ¥a
v w . I ’
v - i = 2
mf mp mf mp mf mp mf mp
3 3 1 1 1 1
T 2 2 3 3 3 3 6 6
2 2 2 2 2 2 7 7
A—— 2 2 0 7 7
B—O 1 5
~
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<span> G </span> <span> C </span> <span> F </span> <span> B7 </span>
o b ) N
V.4 LD L] . LD L] LD L] .
==E=E=e=c=c==——ce===— =
J B b o B B % ¥ T s
mf mp mf mp mf mp mf mp
T 3 3 5 5 1 0 0
4 4 5 5 2 2 2
jﬁ—s 5 3 5 5 3 5 1 1
D 3 1
=N
<span> B7 </span> <span> Dm </span> <span> E7 </span> <span> E7 </span>
RPN S ¥ b ¥ b
V.4 LD L] | LD L] TR — O L —
7 # 7 { i i ﬁ’ 7 ’ 7 I ﬁ’ 7 ’ 7
R -
mf mp mf mp mf mp mf mp
T 0 0 6 6 3 3 3 3
2 2 7 7 1 1 1 1
A 7 1 = 7 7 2 2 5 2 2
D
D 2 0
\
<span> E7 </span> <span> Am </span> <span> Am </span> <span> A7 </span>
P B Yy Y b i
; & o L] & L] jw- !_7; LD L]
Pad 7 ’ 7 s 7 7 7 - 7 7
@ =s P =
mf mp mf mp mf mp mf mp
3 3
T 3 3 1 1 1 1 2 2
1 1 2 2 2 2 2 2
ﬁﬁiz 2 5 2 2 2 2 5 2 2
D 0 0
~
<span> C#dim </span> <span> Dm </span> <span> Dm </span> <span> Dm </span>
-, 30
i LD L] | gq- g L] gq- g L] T gw- g L]
7 7 I i i . 7 7 I 7 7
J  fe" . [ c
: " e J 7 ) v
mf mp mf mp mf mp mf mp
T 5 5 6 6 6 6 6 6
3 3 7 7 7 7 7 7
A—— 5 5 7 7 7 7 7 7
B—4 5 5 5
b\
<span> G </span> <span> C </span> <span> F </span> <span> B7 </span>
/ﬁ 34 B D D ‘h
@ LD L] . LD L] LD L] .
—fr fr | B8y [ grgy | ev e
T § ) 5 = C
mf mp mf mp mf mp mf mp
T 3 3 5 5 1 1 0 0
4 4 5 5 2 2 2 2
D 3 1
\
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<span> E7 </span><span> Am </spanxspan> Am </spanxspan> Am </spanxspan> E7 </spar
s DD Y » Y » Y » Y b
e Vg g T P
mf  mp mf  mp mf  mp mf  mp mf  mp
F 3 3 1 1 1 1 1 1 3 3
1 1 2 2 2 2 2 2 1 1
A 2 2 2 2 2 2 2 2 2 2
B 0 0
0 0 0
\
<span> Am </span><span> Am7 </sparpan> A7 </span><span> A7 </span><span> Dm </spa
U B,
& L] & & L] ] & L]
1?5;:::::%:::41 ! ! I ! I | ! ! { gE ! gE !
A4 A4 v v w w A4 A4 ’
O . - - ;b
mf  mp mf p mf  mp mf  mp mf  mp
3 3 3 3 3 3 1 1
T 1 1 1 1 2 2 2 2 3 3
2 2 2 2 2 2 2 2 2 2
A2 2 2 2 2 2 2 2 0
4E§44444—0 0 0 0
\
<span> Dm/F </spafspan> Dm </spanxspan> G </span><span> (e} </span> <span> F </span>
- s i
i LD L] T LD L] LD L] ; LD L] LD L]
i 7 | 7 7 : 7 i ! i 7 7 7
o ! 4 e !
S5 7 2 C L y e
mf  mp mf  mp mf  mp mf  mp mf  mp
1 1
T 3 3 6 6 3 3 5 5 1 1
2 2 7 7 4 4 5 5 2 2
,9; — 7 5 5 — 5 3 3
B 1 3 1
\
<span> B7 </span> <span> B7 </span> <span> Dm </span> <span> E7 </span>
-, ) N ) N ¥ b
y.4 D L . ] T ;E D EE ] O ———|
%§! :r’ i i .r*47““]r' 7 I 7 7 P’ 7 7
mf mp mf mp mf  mp mf mp
T 0 0 0 0 6 6 3 3
2 2 2 2 7 7 1 1
A— 1 1 1 1 7 7 2 2
B 2 2 ° 0
\
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<span> E7 </span><span> E7 </span><span> Am </spanxspan> Am </spanxspan> A7 </spar
-, 57 ﬁ D ﬁ D B D B D
g1 s ¥a g ¥a . ¥a ¥a vi .
i is—¢8 R R S
mf  mp mf  mp mf  mp mf  mp mf  mp
3 3
T 3 3 3 1 1 1 1 2 2
1 1 1 1 2 2 2 2 2 2
A—— 2 2 2 2 2 2 2 2 2
B—2 5 0 0 °
~
<span> C#dim </span> <span> Dm </span> <span> Dm </span> <span> Dm </span>
)
Y/ LD L] | g LD g L] g LD g L] T g LD g L]
7 7 I i i . 7 7 I 7 7
J  fe" . [ c
¥ " e 7§ v ;)
mf mp mf mp mf mp mf mp
T 5 5 6 6 6 6 6 6
3 3 7 7 7 7 7 7
A—— 5 5 7 7 7 7 7 7
B—* 5 5 °
b\
<span> G </span> <span> C </span> <span> F </span> <span> B7 </span>
o b ) 5
@ 7. 7 N e & e & .
\ s = —————
T § ) =5 ) e S
mf mp mf mp mf mp mf mp
T 3 3 5 5 1 1 0 0
4 4 5 5 2 2 2 2
D 3 1
\
<span> E7 </span><span> Am </spanxspan> Am </spansxspan> A </span> <span> Dbm </sp
R B Y b y b
—® LD ; Ll ! LD L7 g LD F:#’—.It’—‘li%
| | ! | #
R A e L
mf  mp mf  mp mf  mp mf  mp mf  mp
T 3 1 1 1 1 5 5 5 5
1 1 2 2 2 2 6 6 6 6
ﬁﬁ—z 5 2 2 5 2 2 7 7 Z 6 6
D 0 5
b\
<span> F#m </span> <span> A </span> <span> A </span> <span> Ab </span>
- s boood - i F e
- D LD L] E. ¥ &
| 7 7 WP 7
= v e b
5 5 5 5 4 4
T 2 2 5 5 5 5 4 4
2 2 6 6 6 6 5 5
A— 1 4 7 7 7 7 6 6
n 7
=) 2 5 4
\
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<span> Bm </span>span> F#7 </sparsspan> Bm </spanxspan> C#H7 </sparsspan> F#m </sp
- b b b b
. e & e
;#ﬂ 7 ! 7 i
a:i» @ @ i’ T
mf  mp mf  mp mf  mp mp
T 3 3 2 2 3 3 2 2 2 2
4 4 3 3 4 4 4 4 2 2
A 4 4 2 2 4 4 3 3 4 4
B—Z 2 2 4 2
\
<span> F#m </sparsspan> B </span> <span> B7 </span><span> Dm </spansspan> E7 </spar
U B ) B b
o ] '3 D ] i ] | g s g ] B i TR
7 7 " 7 7 ' 7 7 | 7 P-d 7 7
. e
g P LA
mf  mp mf  mp mf  mp mf  mp mf  mp
T 2 2 4 4 4 4 6 6 5 5
2 2 4 4 2 2 7 7 7 7
A—— 4 4 4 4 4 4 7 7 6 6
B—4 2 2 5 Z
b
<span> A </span> <span> Dbm </spasspan> F#m </sparspan> A </span> <span> F#7 </spz
- b dood
E A (R eV 7 s
mf  mp mf  mp mf  mp mf  p mf  mp
5 5
T 5 5 5 5 2 2 5 5 2 2
6 6 6 6 2 2 6 6 3 3
A—— 7 7 6 6 4 4 7 7 2 2
n 4
=] 5 2 5 2
~
<span> F#7 </spansspan> F#7 </sparespan> Bm </spanxspan> Bm </spanzspan> Dm </spa
N B b
;#ﬁ L ! L] 0 & ] g & g L]
7 7 7 { 7 7
} @ @ t @ @ [ 4
J fe #; ) D
mf  mp mf  mp mf  mp mf  mp mf  mp
T 2 2 2 2 3 3 3 3 6 6
3 3 3 3 4 4 4 4 7 7
tA—— 5 2 2 2 4 4 4 4 7 7
3—4 > 2 > 5
b\
<span> A </span> <span> Ab </span> <span> Bm </span> <span> E7 </span>
% A o ﬁ D
o ] P m s ] T —
7 i P P | 7 i i p-2 7 7
5 S o "8 s
e 7 7 = =
mf P mf 14 mf mp mf mp
5 5 4 4
T 5 5 4 4 3 3 3 3
6 6 5 5 4 4 1 1
A7 7 6 6 4 4 2 2
B 2
o] 5 4 0
\
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<span> A </span> <span> E7 </spanxspan> A </span> <span> Dbm </sparsspan> F#m </sp
T b b b
6 s & BAEA 2 RE 4t E e g g |
.j L 4 L 4 'ﬂ" ’ ! "le 1
- 7 e 7 7 B o fo
mf  mp mf  mp mf  mp mf  mp mf  mp
T 2 2 3 3 5 5 5 5 2 2
2 2 1 1 6 6 6 6 2 2
Aioz 2 2 2 7 7 yp— 6 4 4
B— 0 5 2
\
<span> A </span> <span> A </span> <span> Ab </span> <span> Bm </span>
18 ; E P
LD L] E: L] LD L]
7 7 . 7 7 7
o) o — T
e P 2 b P 4
mf P mf p mf P mf mp
5 5 5 5 4 4
T 5 5 5 5 4 4 3 3
6 6 6 6 5 5 4 4
A— 7 7 = 7 7 6 6 5 4 4
D
D 5 4
=N
<span> F#7 </span> <span> Bm </span> <span> C#7 </span> <span> F#m </span>
- A, N
4 gy " ===
7 7 T fin 7 Ik LA L
mf mp mf mp mf mp mf mp
T 2 2 3 3 2 2 2 2
3 3 4 4 4 4 2 2
A 3 2 5 4 4 Z 3 3 4 4
D
D 2 2
\
<span> F#m </sparFspan> B </span> <span> B7 </span><span> Dm </spansspan> E7 </spar
116 S .
-
LD L] F-d L] T LD L] 0
i 7 i 7 | g i g 7 4 o! o 7
o o
g P L
mf  mp mf  mp mf  mp mf  mp mf  mp
T 2 2 4 4 4 4 6 6 5 5
2 2 4 4 2 2 7 7 7 7
A744 4 P — 4 4 4 — 7 6 6
B _ 2 7
~
<span> A </span> <span> Dbm </sparrspan> F#m </spafspan> A </span> <span> F#7 </spz
121 B D

Z

i
i ey

o
mf

mf mp mf mp mf mp mf P mp
5 5
T 5 5 5 5 2 2 5 5 2 2
6 6 6 6 2 2 6 6 3 3
A 7 7 6 6 1 1 7 7 2 2
B 4
5 2 5 2
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<span> F#7 </spansspan> F#7 </sparsspan> Bm </spanxspan> Bm </spanxzspan> Dm </spa
/1\ 126 S b B b
E_E\:g & ! L] & L] 1 g s g L]
7 7 i 7 | 7 7
mf  mp mf  mp mf  mp mf  mp mf  mp
T 2 2 2 2 3 3 3 3 6 6
3 3 3 3 4 4 4 4 7 7
A 5 2 2 2 4 4 4 4 7 7
3—4 2 2 > 5
\
<span> A </span> <span> Ab </span> <span> Bm </span> <span> E7 </span>
/I\ 131 .‘E r ] r ] ﬁ D
L) L] z, L) & & L] O  —
X 7 i 7 i i i P°] 7 7
- [ I—3 # L ‘ ’
e 7 7 =T - E:
mf P mf 4 mf mp mf mp
5 5 4 4
T 5 5 4 4 3 3 3 3
6 6 5 5 4 4 1 1
A——— 7 7 6 6 4 4 2 2
= 2
o) 5 4 0
b
<span> A </span> <span> E7 </span> <span> Am </span> <span> B7 </span>
/1\ 135 B b S b B b § ‘h
66— 8T8 ig T g 7 g7 8§ 7 T
pig f I
Jv & =+ - L ¢
mf mp mf mp mf mp mf mp
T 2 2 3 3 1 1 0 0
2 2 1 1 2 2 2 2
A 2 2 2 2 2 2 1 1
HB—0 0 0 2
\
<span> E7 </span> <span> E7 </span> <span> Am </span> <span> B7 </span>
Faw Db ¥ b Y » S
e e = e S8 e T —
2 f - - Y
%ﬁ‘ - = 4 I -
mf mp mf mp mf mp mf mp
T 3 3 3 3 1 1 0 0
1 1 1 1 2 2 2 2
A—2 2 2 2 2 2 1 1
B 5 2 0 2
\
<span> E7 </span><span> E7 </span><span> Amb5 </spsspan> E7 </span><span> Am </spal
U B ) Y b ) Y b
e e s gy L £ 8 7
s e e - Y E—" —e @
= ° = .
mf  mp mf  mp mf  mp mf  mp mf  mp
T 3 3 3 3 1 1 3 3 1 1
1 1 1 1 2 2 1 1 2 2
A—2 2 P— 2 - 1 2 2 2 2
D 0 0
~
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<span> Am7 </span> <span> A7 </span> <span> A7 </span>  <span> Dm </span>
148 2 ﬁ $
{) . . & 5
© : 1 i : 1 T L e 7
SR . . i
mf 4 mf  mp mf  mp mf mp
3 3 3 3 3 3 1 1
T 1 1 2 2 2 2 3 3
2 2 2 2 2 2 2 2
A 5 2 2 2 2 2 0
B—o0 0 0
b\
<span> Dm/F </spafspan> Dm </spanxspan> G </span> <span> C </span> <span> F </span>
152 B D
P ﬁrﬁv fg‘/’ 7 § § 7 o SN §7 § 7
: I T I A
[ 4
o ) ) = ) c b &
mf  mp mf  mp mf  mp mf  mp mf  mp
1 1
T 3 3 6 6 3 3 5 5 1
2 2 7 7 4 4 5 5 2 2
.ﬁ. — 7 5 5 — 5 3 3
B y 3 1
\
<span> B7 </span> <span> B7 </span> <span> Dm </span> <span> E7 </span>
/ PUREY § lh § lh B b
7 e 5 o e | ﬁ s 3 y %
?#1 = o ) b % 8 s
mf mp mf mp mf mp mf mp
T 0 0 0 0 6 6 3 3
2 2 2 2 7 7 1 1
%1 1 1 1 5 7 7 2 2
B 2 0
b\
<span> E7 </span><span> E7 </span><span> Am </spanxspan> Am </span3span> A7 </spar
16l B D B D B D B b
———— oy T = ¥
©— ks B ks —s - - —e—o
mf  mp mf  mp mf  mp mf  mp mf  mp
3 3
T 3 3 3 3 1 1 1 1 2 2
1 1 1 1 2 2 2 2 2 2
tA— 2 2 2 2 2 2 2 2 2 2
HB—2 0 0 0 0
\
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<span> C#dim </span> <span> Dm </span> <span> Dm </span> <span> Dm </span>
L] I & L] LD L] | LD L]
e by | brlv o bl
[ 4 [ 4
) e 7 ;v
mf mp mf mp mf mp mf mp
T 5 5 6 6 6 6 6 6
3 3 7 7 7 7 7 7
A 5 5 7 7 7 7 7 7
B 5 5 i
\
<span> G </span> <span> C </span> <span> F </span> <span> B7 </span>
o 110 B D D ‘h
V.4 LD L] . LD L] LD L] .
==E=E===c=c==——c====—
A= L - L
mf mp mf mp mf mp mf mp
T 3 3 5 5 1 1 0 0
4 4 5 5 2 2 2 2
D 3 1
\
<span> E7 </span> <span> B7 </span> <span> E7 </span> <span> B7 </span>
14 ﬁ qb § lh B D § ‘h
7 ’ 7 T q‘ 7 * 7 -H" 1 ’ 7 I
ik F-d I in
%ﬁ’ o+ T . ? i o 7° o
mf mp mf mp mf mp mf mp
T 3 0 0 3 3 0 0
1 1 2 2 1 1 2 2
\
<span> Am </span> <span> Am </span> <span> B7 </span>
178 ﬁ D ﬁ b B D ‘ﬁ:j ’P
I —— T o L] LD L] LD L] i .
7 ’ i ; 7 7 ; 7 7 ] uﬂ'Héi
mf mp mf mp mf mp mf p
2 2
T 3 3 1 1 1 1 0 0
1 1 2 2 2 2 2 2
tA— 2 2 2 2 2 2 1 1
D 5 0 0 2
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E7 </span> <span> Am </sparspan> Am </span>

oy
==

—aens,
o
q
q
q

mf mp i

T % % 2 5

A 2 2 2 2
1 0

/UJ
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